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1. Introduction
In RAN1 channel model ad hoc meeting, modelling on spatial consistency and blockage were agreed as working assumptions. However, some details should be clarified. 
2. Discussion
In [1], the spatially consistent random variables are generated by interpolating. The de-correlation distance may probably vary according to scenarios because an UE dropped in the grid maybe in LOS state or NLOS state thus the parameters interpolated between LOS and NLOS state are not accurate. In other words, propagations should be LOS or NLOS only within a grid whatever the de-correlation distance would be. 


Fig 1, grid example
In addition, the values of de-correlation distance in UMi, UMa and indoor scenarios should be realistic. Table 1 shows the correlation distance defined for UMi and UMa in 36.873 [2] which could be a reference for defining de-correlation distance. Further, the de-correlation distance in indoor hotspot scenario should be studied carefully.
Table 1 correlation distance for UMa and UMi
	Scenarios
	3D-UMi
	3D-UMa

	
	LOS
	NLOS
	O-to-I
	LOS
	NLOS
	O-to-I

	Correlation distance in the horizontal plane [m]3)
	DS
	7
	10
	10
	30
	40
	10

	
	ASD
	8
	10
	11
	18
	50
	11

	
	ASA
	8
	9
	17
	15
	50
	17

	
	SF
	10
	13
	7
	37
	50
	7

	
	
	15
	N/A
	N/A
	12
	N/A
	N/A

	
	ZSA
	12
	10
	25
	15
	50
	25

	
	ZSD
	12
	10
	25
	15
	50
	25



The correlation distance could have relation with ASA and AOA. 
 
In drop based system simulation, the occurring probability, position, and size of the obstructing objects need to be defined. 
From the measurement results [3], the dynamic blocking can lead to fading of about 15dB or more. In one simulation drop, when blocking probability is higher than 0 for an UE in LOS condition the sum of additional shadowing should be compared with path loss difference between LOS and NLOS at the same position. If the sum of additional loss is greater than the path loss difference it is not reasonable to use the path loss value according to LOS state. To solve the problem, the user blocked is likely to be in NLOS condition and it may be appropriate to re-calculate the small scales parameters as in NLOS state rather than applying the LOS path loss simply in Step 12[2]. 
To summarize, we have following proposals:
Proposal 1: The propagations should be LOS or NLOS only within a grid, and the correlation distance could have relation with ASA and AOA.
Proposal 2: The probability, position, and size of the blockers should be defined clearly.
Proposal 3: The additional shadowing of the user in LOS condition should be compared with the path loss difference between LOS and NLOS to decide the appropriate state of the user.

3. Summary
In this contribution, we further discussed issues requiring clarification on the working assumption of spatial consistency and blocking model, we have following proposals:
Proposal 1: The propagations should be LOS or NLOS only within a grid, and the correlation distance could have relation with ASA and AOA.
Proposal 2: The probability, position, and size of the blockers should be defined clearly.
Proposal 3: The additional shadowing of the user in LOS condition should be compared with the path loss difference between LOS and NLOS to decide the appropriate state of the user.
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